# TRANSIENT BEHAVIOR OF POISSON QUEUE

## TOMO-O KAWAMURA

### Keio University

(Received Sept. 4, 1964)

### 1. INTRODUCTION

We consider single Poisson queuing system which has the interarrival and holding time distributed by exponential distributions with means  $1/\lambda$  and  $1/\mu$  respectively. In this paper we shall discuss the transient behavior of this queuing system and we shall get the results on how fast the state probabilities and the mean value of the units in the system tend to their equilibrium limits when these exist. We shall easily see how small the absolute values of the differences between above mentioned quantities and their limits are for time *t* large enough whatever the initial state of the system may be. Moreover, we shall discuss how fast the queue length approaches to an asymptotic linear function in non-equilibrium case.

To get these results we introduce some notations;  $E_n$  represents the state of the system that there are *n* units waiting in the queue and being served at the counter,  $P_n(t)$   $(n=0, 1, \dots)$  are the state probabilities that the system is in the state  $E_n$  at time t,  $(p_n)$  is the equilibrium distribution of the states  $E_n$  when it exists and let  $\rho$  be the relative intensity which is equal to the ratio  $\lambda: \mu$ .

It is well-known fact that for any initial state of the system the state probabilities  $P_n(t)$   $(n=0, 1, \dots)$  satisfy the difference differential equations

(1)  

$$\frac{dP_{0}(t)}{dt} = -\lambda P_{0}(t) + \mu P_{1}(t),$$

$$\frac{dP_{n}(t)}{dt} = -(\lambda + \mu)P_{n}(t) + \lambda P_{n-1}(t) + \mu P_{n+1}(t) \quad (n \ge 1)$$

at any time t. To make our calculations slightly simple we put  $\mu = 1$  into these equations. Then we obtain the equations

(1')  
$$\frac{dP_0(t)}{dt} = -\rho P_0(t) + P_1(t),$$
$$\frac{dP_n(t)}{dt} = -(1+\rho)P_n(t) + \rho P_{n-1}(t) + P_{n+1}(t) \quad (n \ge 1)$$

It is well-known\* that if  $P_i(0)=1$  the solutions of (1') are given by the formula

(2) 
$$P_{n}(t) = e^{-(1+\rho)t} \left\{ (\sqrt{\rho})^{n-i} I_{n-i}(2\sqrt{\rho}t) + (\sqrt{\rho})^{n-i-1} I_{n+i+1}(2\sqrt{\rho}t) + (1-\rho)\rho^{n} \sum_{k=n+i+2}^{\infty} (\sqrt{\rho})^{-k} I_{k}(2\sqrt{\rho}t) \right\}$$

and in the case when n=0 we have

(2') 
$$P_{0}(t) = e^{-(1+\rho)t} \left\{ (\sqrt{\rho})^{-i} I_{i}(2\sqrt{\rho} t) + (\sqrt{\rho})^{-i-1} I_{i+1}(2\sqrt{\rho} t) + (1-\rho) \sum_{k=i+2}^{\infty} (\sqrt{\rho})^{-k} I_{k}(2\sqrt{\rho} t) \right\},$$

where

$$I_m(x) = (\frac{1}{2}x)^m \sum_{n=0}^{\infty} \frac{(\frac{1}{2}x)^{2n}}{n! (m+n)!}$$

which we call modified Bessel function. The formula (2) is very important, from which we shall start to discuss.

If we want to have the solutions of (1) we can easily get them by only changing t on the right side of (2) into  $\mu t$ .

#### 2. PROPERTIES OF MODIFIED BESSEL FUNCTION

To continue the discussion we must use some properties of modified Bessel function :

(3)  $I_0(0) = 1$ ,  $I_n(0) = 0$   $(n = 1, 2, \dots)$ ,

<sup>\*&#</sup>x27; See, for example, the recent publication [1], pp. 88-96.

- (4)  $I_n(x) = I_{-n}(x),$
- (5)  $x(I_{n-1}(x)-I_{n+1}(x))=2nI_n(x),$
- (6)  $I_n(x) < I_m(x) \quad (n > m \ge 0)$

for positive x,

(7) 
$$I_n(x) \sim \frac{e^x}{\sqrt{2\pi x}} \quad (x \to +\infty),$$

(8) 
$$e^{\frac{x}{2}\left(y+\frac{1}{y}\right)} = \sum_{n=-\infty}^{\infty} y^n I_n(x)$$

which is one of the formulas of Neumann's expansion of elentary functions in terms of Bessel function.

## 3. BEHAVIORS OF THE STATE PROBABILITIES $P_n(t)$

We can conclude from (2) that if  $\rho \ge 1$ , then  $P_n(t) \rightarrow 0$   $(t \rightarrow +\infty)$ , because, using the properties of modified Bessel function (6) and (7), we can easily see

$$e^{-(1+\rho)t}I_n(2\sqrt{\rho}t) \sim e^{-(1+\rho)t} \frac{e^{2\sqrt{\rho}t}}{\sqrt{2\pi(2\sqrt{\rho}t)}} = \frac{e^{-(\sqrt{\rho}-1)^2}}{\sqrt{2\pi(2\sqrt{\rho}t)}} \longrightarrow 0$$

$$(t \longrightarrow +\infty)$$

for any n, and

$$e^{-(1+\rho)t}\sum_{k=n}^{\infty}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho}t) < \frac{(\sqrt{\rho})^{-n}e^{-(1+\rho)t}}{1-\frac{1}{\sqrt{\rho}}} I_{0}(2\sqrt{\rho}t) \rightarrow 0 (t \rightarrow +\infty).$$

for any *n* and  $\rho(>1)$ .

If  $\rho < 1$ , then we can not immediately conclude even that the summation on the right side of (2) or (2') converges.

However, from (2) we can easily prove that

(9) 
$$P_n(t) > 0$$

for positive  $\rho$  and t, and

78

•

(10) 
$$\sum_{n=0}^{\infty} P_n(t) = 1.*$$

Using the property of Bessel function (8), we get

$$P_{n}(t) = e^{-(1+\rho)t} \Big[ (\sqrt{\rho})^{n-i} I_{n-i}(2\sqrt{\rho}t) + (\sqrt{\rho})^{n-i-1} I_{n+i+1}(2\sqrt{\rho}t) \\ - (1-\rho)\rho^{n} \Big\{ e^{(1+\rho)t} - \sum_{k=-n-i-1}^{\infty} (\sqrt{\rho})^{k} I_{k}(2\sqrt{\rho}t) \Big\} \Big].$$

Then we have the formula

(11) 
$$P_{n}(t) = (1-\rho)\rho^{n} + e^{-(1+\rho)t} \left\{ (\sqrt{\rho})^{n-i} I_{n-i}(2\sqrt{\rho}t) + (\sqrt{\rho})^{n-i-1} I_{n+i+1}(2\sqrt{\rho}t) - (1-\rho)\rho^{n} \sum_{k=-n-i-1}^{\infty} (\sqrt{\rho})^{k} I_{k}(2\sqrt{\rho}t) \right\},$$

where the first term on the right side represents the equilibrium limit  $p_n$  of  $P_n(t)$  when  $\rho$  is less than unity.

Indeed, if  $\rho < 1$ , considering the properties of Bessel function (6) and (7), we can easily see that the summation on the right side of (11) converges and that other terms than the first on the right side of (11) tend to 0 when  $t \rightarrow +\infty$ . Then we find immediately that

(12)  $P_n(t) \rightarrow p_n = (1-\rho)\rho^n \quad (t \rightarrow +\infty).$ 

Moreover, after some calculations, we shall have the formula (13) mentioned below. Let  $P_t$  and  $-N_t$  be the sum of the positive or negative terms in the brace on the right side of (11) respectively, then, using (6), we get

$$P_{1} = (\sqrt{\rho})^{n-i} I_{n-i} (2\sqrt{\rho} t) + (\sqrt{\rho})^{n-i-1} I_{n+i+1} (2\sqrt{\rho} t)$$
  
$$< (1 + \sqrt{\rho}) (\sqrt{\rho})^{n-i-1} I_{0} (2\sqrt{\rho} t)$$

and

$$N_1 = (1-\rho)\rho^n \sum_{k=-n-i-1}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t)$$

\*' See also [1], pp. 93-95.

$$\leq (1-\rho)\rho^{n} \frac{(\sqrt{\rho})^{-n-i-1}}{1-\sqrt{\rho}} I_{0}(2\sqrt{\rho} t)$$
$$= (1+\sqrt{\rho})(\sqrt{\rho})^{n-i-1} I_{0}(2\sqrt{\rho} t).$$

Then we have the formulas

(13) 
$$P_n(t) - p_n \mid \langle (1 + \sqrt{\rho})(\sqrt{\rho})^{n-i-1}e^{-(1+\rho)t} I_0(2\sqrt{\rho}t) \rightarrow 0 \quad (t \rightarrow +\infty)$$

and

$$|P_n(t)-p_n|:p_n<(1-\sqrt{\rho})^{-1}(\sqrt{\rho})^{-n-i-1}e^{-(1+\rho)t}I_0(2\sqrt{\rho}t)$$
  
$$\rightarrow 0 \qquad (t\rightarrow +\infty).$$

Finally we can change the formula (11) into other expression. The expression in the brace on the right side of (11) can be changed as follows:

$$\begin{split} &(\sqrt{\rho})^{n-i}I_{n-i}(2\sqrt{\rho}\ t) + (\sqrt{\rho}\ )^{n-i-1}I_{n+i+1}(2\sqrt{\rho}\ t) \\ &-\rho^n \Big\{ \sum_{k=-n-i+1}^{\infty} (\sqrt{\rho}\ )^k I_k(2\sqrt{\rho}\ t) - \sum_{k=-n-i-1}^{\infty} (\sqrt{\rho}\ )^{k+2}I_k(2\sqrt{\rho}\ t) \Big\} \\ &= &(\sqrt{\rho}\ )^{n-i}I_{n-i}(2\sqrt{\rho}\ t) - (\sqrt{\rho}\ )^{n-i}I_{-n-i}(2\sqrt{\rho}\ t) \\ &-\rho^n \Big\{ \sum_{k=-n-i+1}^{\infty} (\sqrt{\rho}\ )^k I_k(2\sqrt{\rho}\ t) - \sum_{k=-n-i-1}^{\infty} (\sqrt{\rho}\ )^{k+2}I_k(2\sqrt{\rho}\ t) \Big\} \\ &= &(\sqrt{\rho}\ )^{n-i}I_{n-i}(2\sqrt{\rho}\ t) - (\sqrt{\rho}\ )^{n-i}I_{n+i}(2\sqrt{\rho}\ t) \\ &-\rho^n \sum_{k=-n-i+1}^{\infty} (\sqrt{\rho}\ k\Big\{ I_k(2\sqrt{\rho}\ t) - I_{k-2}(2\sqrt{\rho}\ t) \Big\} \\ &= &(\sqrt{\rho}\ )^{n-i}I_{n-i}(2\sqrt{\rho}\ t) - (\sqrt{\rho}\ )^{n-i}I_{n+i}(2\sqrt{\rho}\ t) \\ &-\rho^n \sum_{k=-n-i+1}^{\infty} \frac{2(\sqrt{\rho}\ )^k(k-1)I_{k-1}(2\sqrt{\rho}\ t)}{2\sqrt{\rho}\ t} \,. \end{split}$$

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

80

Then, using the property (5), we obtain the following results;

(14) 
$$P_{n}(t) = (1-\rho)\rho^{n} + e^{-(1+\rho)t} \left[ \frac{-\rho^{n}}{t} \sum_{k=-n-i}^{\infty} k(\sqrt{\rho})^{k} I_{k}(2\sqrt{\rho}t) + (\sqrt{\rho})^{n-i} \left\{ I_{n-i}(2\sqrt{\rho}t) - I_{n+i}(2\sqrt{\rho}t) \right\} \right]$$

and in the case n=0

(14') 
$$P_0(t) = 1 - \rho + \frac{e^{-(1+\rho)t}}{t} \sum_{k=-i}^{\infty} k(\sqrt{\rho})^k I_k(2\sqrt{\rho}t).$$

In the case when i=0 we have very simple formula

(15) 
$$P_n(t) = (1-\rho)\rho^n + \frac{e^{-(1+\rho)t}}{t} \rho^n \sum_{k=-n}^{\infty} k(\sqrt{\rho})^k I_k(2\sqrt{\rho}t).$$

# 4. BEHAVIOR OF THE MEAN VALUE L(t) OF THE UNITS IN THE SYSTEM WHEN $\rho$ IS LESS THAN UNITY

In this section we shall obtain the formulas on the mean value L(t) of the units in the system at finite t and observe the behaviors of L(t) at large t.

We can calculate L(t) in the following way. Using the formula (2) of  $P_n(t)$ , we get

$$\begin{split} L(t) &= \sum_{n=1}^{\infty} n P_n(t) = -1 + \sum_{n=0}^{\infty} (n+1) P_n(t) \\ &= -1 + e^{-(1+\rho)t} \bigg\{ \sum_{n=0}^{\infty} (n+1) (\sqrt{\rho})^{n-i} I_{n-i} (2\sqrt{\rho} t) \\ &+ \sum_{n=0}^{\infty} (n+1) (\sqrt{\rho})^{n-i-1} I_{n+i+1} (2\sqrt{\rho} t) \\ &+ (1-\rho) \sum_{n=0}^{\infty} (n+1) \rho^n \sum_{k=n+i+2}^{\infty} (\sqrt{\rho})^{-k} I_k (2\sqrt{\rho} t) \bigg\} \,. \end{split}$$

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

The first term in the brace on the right side is equal to

$$\sum_{k=1}^{\infty} k(\sqrt{\rho})^{k-i-1} I_{k-i-1}(2\sqrt{\rho} t).$$

The second term can be expressed as follows;

$$\sum_{k=i+1}^{\infty} (k-i)(\sqrt{\rho})^{k-2i-2}I_{k}(2\sqrt{\rho}t)$$
$$= \frac{1}{\rho^{i+1}} \sum_{k=i+1}^{\infty} k(\sqrt{\rho})^{k}I_{k}(2\sqrt{\rho}t) - \frac{i}{\rho^{i+1}} \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{k}I_{k}(2\sqrt{\rho}t).$$

When  $\rho \neq 1$ , by interchanging the summation, the last term becomes

$$\begin{split} &(1-\rho)\sum_{k=i+2}^{\infty}\sum_{n=0}^{k-i-2}(n+1)\rho^{n}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho}t) \\ &=\sum_{k=i+2}^{\infty}\left\{\frac{1-\rho^{k-i-1}}{1-\rho}-(k-i-1)\rho^{k-i-1}\right\}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho}t) \\ &=\frac{1}{1-\rho}\sum_{k=i+2}^{\infty}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho}t)-\frac{1}{(1-\rho)\rho^{i+1}}\sum_{k=i+2}^{\infty}(\sqrt{\rho})^{k}I_{k}(2\sqrt{\rho}t) \\ &-\frac{1}{\rho^{i+1}}\sum_{k=i+2}^{\infty}k(\sqrt{\rho})^{k}I_{k}(2\sqrt{\rho}t)+\frac{i+1}{\rho^{i+1}}\sum_{k=i+2}^{\infty}(\sqrt{\rho})^{k}I_{k}(2\sqrt{\rho}t). \end{split}$$

Then we get

$$\begin{split} L(t) &= -1 + e^{-(1+\rho)t} \bigg[ \sum_{k=1}^{\infty} k(\sqrt{\rho})^{k-i-1} I_{k-i-1}(2\sqrt{\rho} t) \\ &+ \frac{1}{\rho^{i+1}} \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{k} I_{k}(2\sqrt{\rho} t) + \frac{1}{1-\rho} \sum_{k=i+2}^{\infty} (\sqrt{\rho})^{-k} I_{k}(2\sqrt{\rho} t) \\ &- \frac{1}{(1-\rho)\rho^{i+1}} \sum_{k=i+2}^{\infty} (\sqrt{\rho})^{k} I_{k}(2\sqrt{\rho} t) \bigg]. \end{split}$$

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

82

The sum of the last three terms in the brace becomes

$$\frac{1}{1-\rho}\left\{\sum_{k=i+1}^{\infty} (\sqrt{\rho})^{-k} I_k(2\sqrt{\rho}t) - \frac{1}{\rho^i} \sum_{k=i+1}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho}t)\right\}.$$

Then we obtain the equality

(16) 
$$L(t) = -1 + e^{-(1+\rho)t} \Biggl[ \sum_{k=1}^{\infty} k(\sqrt{\rho})^{k-i-1} I_{k-i-1}(2\sqrt{\rho} t) + \frac{1}{1-\rho} \Biggl\{ \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{-k} I_k(2\sqrt{\rho} t) - \frac{1}{\rho^i} \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{k} I_k(2\sqrt{\rho} t) \Biggr\} \Biggr].$$

Using the property (8) of modified Bessel function, we can see

$$\sum_{k=i+1}^{\infty} (\sqrt{\rho})^{-k} I_k(2\sqrt{\rho} t) = e^{(1+\rho)i} - \sum_{k=-i}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t).$$

Therefore we can change the form of L(t) into the following:

$$\begin{split} L(t) &= -1 + e^{-(1+\rho)t} \Bigg[ \sum_{k=1}^{\infty} k(\sqrt{\rho})^{k-i-1} I_{k-i-1}(2\sqrt{\rho} t) \\ &+ \frac{1}{1-\rho} \Big\{ e^{(1+\rho)t} - \sum_{k=-i}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t) - \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{k-2i} I_k(2\sqrt{\rho} t) \Big\} \Bigg]. \end{split}$$

Then we can finally reach the result

(17) 
$$L(t) = \frac{\rho}{1-\rho} + e^{-(1+\rho)t} \left[ \sum_{k=1}^{\infty} k(\sqrt{\rho})^{k-i-1} I_{k-i-1}(2\sqrt{\rho} t) - \frac{1}{1-\rho} \left\{ \sum_{k=0}^{\infty} (\sqrt{\rho})^{k-i} I_{k-i}(2\sqrt{\rho} t) + \sum_{k=1}^{\infty} (\sqrt{\rho})^{k-i} I_{k+i}(2\sqrt{\rho} t) \right\} \right]$$

and in the case when i=0 we get

(17') 
$$L(t) = \frac{\rho}{1-\rho} + e^{-(1+\rho)t} \left\{ \sum_{k=1}^{\infty} k(\sqrt{\rho})^{k-1} I_{k-1}(2\sqrt{\rho}t) \right\}$$

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

$$-\frac{1}{1-\rho}\sum_{k=1}^{\infty}\varepsilon_n(\sqrt{\rho})^k I_k(2\sqrt{\rho}t)\Big\},$$

where  $\sum_{n=0}^{\infty} \varepsilon_n a_n = a_0 + \sum_{n=1}^{\infty} 2a_n$  for any sequence  $(a_n)$ .

The first term on the right side of (17) or (17') is equal to the equilibrium limit  $L = \rho/(1-\rho)$  of L(t) when  $0 < \rho < 1$ .

Depating from (17) we can reach the formula (18) mentioned below. Let  $P_2$  and  $-N_2$  be the sum of the positive or negative terms in the brace of (17) respectively, then

$$\begin{split} P_{2} &= \sum_{k=1}^{\infty} k (\sqrt{\rho})^{k-i-1} I_{k-i-1} (2\sqrt{\rho} t) \\ &< \frac{1}{(\sqrt{\rho})^{i}} \frac{1}{(1-\sqrt{\rho})^{2}} I_{0} (2\sqrt{\rho} t), \\ N_{2} &= \frac{1}{1-\rho} \Big\{ \sum_{k=0}^{\infty} (\sqrt{\rho})^{k-i} I_{k-i} (2\sqrt{\rho} t) + \sum_{k=1}^{\infty} (\sqrt{\rho})^{k-i} I_{k+1} (2\sqrt{\rho} t) \\ &< \frac{1}{1-\rho} \Big\{ \frac{1}{(\sqrt{\rho})^{i} (1-\sqrt{\rho})} + \frac{\sqrt{\rho}}{(\sqrt{\rho})^{i} (1-\sqrt{\rho})} \Big\} I_{0} (2\sqrt{\rho} t) \\ &= \frac{1}{(\sqrt{\rho})^{i} (1-\sqrt{\rho})^{2}} I_{0} (2\sqrt{\rho} t). \end{split}$$

Therefore, when the intensity is less than unity, we have

(18) 
$$|L(t)-L| < \frac{1}{(\sqrt{\rho})^{i}(1-\sqrt{\rho})^{2}} e^{-(1+\rho)t} I_{0}(2\sqrt{\rho}t) \rightarrow 0 \qquad (t \rightarrow +\infty)$$

and

(18') 
$$\frac{|L(t)-L|}{L} < \frac{1+\sqrt{\rho}}{\rho(\sqrt{\rho})^{i}(1-\sqrt{\rho})} e^{-(1+\rho)t} I_0(2\sqrt{\rho} t) \rightarrow 0 \qquad (t \rightarrow +\infty).$$

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

# 5. MEAN VALUE L(t) OF THE UNITS IN THE SYSTEM WHEN $\rho$ IS NOT LESS THAN UNITY

In this section we shall deal with the behavior of L(t) when  $\rho \ge 1$ . Of course, we know that in this case  $L(t) \rightarrow +\infty$   $(t \rightarrow +\infty)$ . To what function and how fast the function L(t) becomes asymptotically equal when  $t \rightarrow +\infty$ ?

First, we assume  $\rho > 1$ . We depart from the equation (16)

$$L(t) = -1 + e^{-(1+\rho)t} \left[ \sum_{k=1}^{\infty} k (\sqrt{\rho})^{k-i-1} I_{k-i-1} (2\sqrt{\rho} t) - \frac{1}{\rho^{-1}} \left\{ \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{-k} I_k (2\sqrt{\rho} t) - \frac{1}{\rho^{i-1}} \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{k} I_k (2\sqrt{\rho} t) \right\} \right]$$

which is valid for the case when  $\rho \neq 1$ . Under the consideration of the properties (5) and (8) of modified Bessel function, we can easily see that

$$\begin{split} &\sum_{k=1}^{\infty} k(\sqrt{\rho})^{k-i-1} I_{k-i-1}(2\sqrt{\rho} t) = \sum_{k=-i}^{\infty} (k+i+1)(\sqrt{\rho})^k I_k(2\sqrt{\rho} t) \\ &= \sum_{k=-i}^{\infty} k(\sqrt{\rho})^k I_k(2\sqrt{\rho} t) + (i+1) \sum_{k=-i}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t) \\ &= t \sum_{k=-i}^{\infty} (\sqrt{\rho})^{k+1} \Big\{ I_{k-1}(2\sqrt{\rho} t) - I_{k+1}(2\sqrt{\rho} t) \Big\} \\ &+ (i+1) \Big\{ e^{(1+\rho)t} - \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{-k} I_k(2\sqrt{\rho} t) \Big\} \end{split}$$

and

$$\sum_{k=i+1}^{\infty} (\sqrt{\rho})^{k} I_{k}(2\sqrt{\rho}t) = \sum_{k=-\infty}^{-i-1} (\sqrt{\rho})^{-k} I_{k}(2\sqrt{\rho}t)$$

$$=e^{(1+\rho)t}-\sum_{k=-i}^{\infty}(\sqrt{\rho})^{-k}I_k(2\sqrt{\rho}t).$$

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

Then we have an equality

$$\begin{split} L(t) &= i + \frac{1}{\rho^{i}(\rho-1)} + te^{-(1+\rho)t} \sum_{k=-i}^{\infty} (\sqrt{\rho})^{k+1} \Big\{ I_{k-1}(2\sqrt{\rho} t) \\ &- I_{k+1}(2\sqrt{\rho} t) \Big\} - e^{-(1+\rho)t} \Big\{ \Big(i+1+\frac{1}{\rho-1}\Big) \sum_{k=i+1}^{\infty} (\sqrt{\rho})^{-k} I_{k}(2\sqrt{\rho} t) \\ &+ \frac{1}{\rho^{i}(\rho-1)} \sum_{k=-i}^{\infty} (\sqrt{\rho})^{-k} I_{k}(2\sqrt{\rho} t) \Big\} \,. \end{split}$$

The first summation on the right side of this equation can be changed as follows:

$$\begin{split} &\sum_{k=-i}^{\infty} (\sqrt{\rho})^{k+1} \Big\{ I_{k-1} (2\sqrt{\rho} \ t) - I_{k+1} (2\sqrt{\rho} \ t) \Big\} \\ &= \rho \sum_{k=-i-1}^{\infty} (\sqrt{\rho})^k I_k (2\sqrt{\rho} \ t) - \sum_{k=-i+1}^{\infty} (\sqrt{\rho})^k I_k (2\sqrt{\rho} \ t) \\ &= (\sqrt{\rho})^{-i+1} I_{i+1} (2\sqrt{\rho} \ t) + (\sqrt{\rho})^{-i+2} I_i (2\sqrt{\rho} \ t) \\ &+ (\rho - 1) \sum_{k=-i+1}^{\infty} (\sqrt{\rho})^k I_k (2\sqrt{\rho} \ t) \\ &= (\sqrt{\rho})^{-i+1} I_{i+1} (2\sqrt{\rho} \ t) + (\sqrt{\rho})^{-i+2} I_i (2\sqrt{\rho} \ t) \\ &+ (\rho - 1) \Big\{ e^{(1+\rho)t} - \sum_{k=i}^{\infty} (\sqrt{\rho})^{-k} I_k (2\sqrt{\rho} \ t) \Big\} \,. \end{split}$$

Then we finally find the formula

(19) 
$$L(t) = i + \frac{1}{\rho^{i}(\rho - 1)} + (\rho - 1)t + e^{-(1+\rho)t} \left[ \left\{ (\sqrt{\rho})^{-i+1} I_{i+1}(2\sqrt{\rho}t) + (\sqrt{\rho})^{-i+2} I_{i}(2\sqrt{\rho}t) \right\} \right]$$

86

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

$$-(\rho-1)\sum_{k=i}^{\infty}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho}\ t)\Big\}t$$
$$-\Big\{\Big(i+1+\frac{1}{\rho-1}\Big)\sum_{k=i+1}^{\infty}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho}\ t)$$
$$+\frac{1}{\rho^{i}(\rho-1)}\sum_{k=-i}^{\infty}(\sqrt{\rho})^{k}I_{k}(2\sqrt{\rho}\ t)\Big\}\Big].$$

Let  $P_3$ ,  $-N_3$  be the sum of positive or negative terms in the brace [] on the right side of this equation, then

$$P_{3} < \frac{1 + \sqrt{\rho}}{(\sqrt{\rho})^{t-1}} t I_{0}(2\sqrt{\rho} t) \qquad (t > 0)$$

$$N_{3} < (\rho - 1) \frac{\frac{1}{(\sqrt{\rho})^{i}}}{1 - \frac{1}{\sqrt{\rho}}} t I_{0}(2\sqrt{\rho} t)$$

$$+\left\{\left(i+1+\frac{1}{1-\rho}\right)\frac{\frac{1}{(\sqrt{\rho})^{i+1}}}{1-\frac{1}{\sqrt{\rho}}}+\frac{1}{\rho^{i}(\rho-1)}\frac{(\sqrt{\rho})^{i}}{1-\frac{1}{\sqrt{\rho}}}\right\}I_{0}(2\sqrt{\rho}\ t)$$

$$= \left\{ \frac{1+\sqrt{\rho}}{(\sqrt{\rho})^{i-1}} t + \frac{i(\sqrt{\rho}-1)+\sqrt{\rho}}{(\sqrt{\rho}-1)^2(\sqrt{\rho})^i} \right\} I_0(2\sqrt{\rho} t).$$

Then we finally reach the result

(20) 
$$\left| L(t) - \left\{ i + \frac{1}{\rho^{i}(\rho-1)} + (\rho-1)t \right\} \right|$$
  
 $< \frac{2(1+\sqrt{\rho})}{(\sqrt{\rho})^{i-1}} t e^{-(1+\rho)t} I_{0}(2\sqrt{\rho} t) \quad \left( t > \frac{1}{1-\rho} \left( \frac{i}{\sqrt{\rho}} + \frac{1}{\sqrt{\rho}-1} \right) \right)$ 

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

$$\sim \frac{2(1+\sqrt{\rho})}{(\sqrt{\rho})^{i-1}} t e^{-(1+\rho)t} \sqrt{\frac{e^{2\sqrt{\rho}t}}{2\pi \cdot 2\sqrt{\rho}t}} = \frac{1+\sqrt{\rho}}{(\sqrt{\rho})^{i-1}} \frac{e^{-(\sqrt{\rho}-1)^2 t}}{\sqrt{\pi}\sqrt{\rho}} \sqrt{t} \to 0$$

$$(t \to +\infty).$$

Next, we consider the case when  $\rho = 1$ . In this case we obtain the state probabilities  $P_n(t)$  from (2);

$$P_n(t) = e^{-2t} \left\{ I_{n-i}(2t) + I_{n+i+1}(2t) \right\}.$$

Then we have an equality

$$\begin{split} L(t) &= \sum_{n=1}^{\infty} n P_n(t) \\ &= e^{-2t} \bigg\{ \sum_{n=1}^{\infty} n I_{n-i}(2t) + \sum_{n=1}^{\infty} n I_{n+i+1}(2t) \bigg\} \\ &= e^{-2t} \bigg\{ \sum_{k=-i+1}^{\infty} (k+i) I_k(2t) + \sum_{k=i+2}^{\infty} (k-i-1) I_k(2t) \bigg\} \\ &= e^{-2t} \bigg\{ i \sum_{k=-i+1}^{\infty} I_k(2t) - (i+1) \sum_{k=i+2}^{\infty} I_k(2t) \\ &+ \sum_{k=-i+1}^{\infty} k I_k(2t) + \sum_{k=i+2}^{\infty} k I_k(2t) \bigg\} . \end{split}$$

Using the properties (8) and (5) of modified Bessel function, we get

$$i \sum_{k=-i+1}^{\infty} I_k(2t) - (i+1) \sum_{k=i+2}^{\infty} I_k(2t)$$
  
=  $i \sum_{k=-i+1}^{i+1} I_k(2t) - \sum_{k=i+2}^{\infty} I_k(2t)$   
=  $i \sum_{k=-i+1}^{i+1} I_k(2t) - \frac{1}{2} e^{2t} + \frac{1}{2} I_0(2t) + \sum_{k=1}^{i+1} I_k(2t)$ 

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

and

$$\sum_{k=-i+1}^{\infty} kI_{k}(2t) + \sum_{k=i+2}^{\infty} kI_{k}(2t)$$
$$= t \Biggl[ \sum_{k=-i+1}^{\infty} \Biggl\{ I_{k-1}(2t) - I_{k+1}(2t) \Biggr\} + \sum_{k=i+2}^{\infty} \Biggl\{ I_{k-1}(2t) - I_{k+1}(2t) \Biggr\} \Biggr]$$
$$= t \sum_{k=i-1}^{i+2} I_{k}(2t).$$

Then we have a formula

(21) 
$$L(t) = -\frac{1}{2} + te^{-2t} \sum_{k=i-1}^{i+2} I_k(2t) + e^{-2t} \left\{ i \sum_{k=-i+1}^{i+1} I_k(2t) + -\frac{1}{2} - I_0(2t) + \sum_{k=1}^{i+1} I_k(2t) \right\},$$

from which we can obtain an inequality

۰. •

(22) 
$$0 < L(t) - \left\{ te^{-2t} \sum_{k=i-1}^{i+2} I_k(2t) - \frac{1}{2} \right\}$$
  
 $< \left( 2i^2 + 2i + -\frac{3}{2} \right) e^{-2t} I_0(2t)$   
 $\sim \left( i^2 + i + \frac{3}{4} \right) \frac{1}{\sqrt{\pi t}} \rightarrow 0$   $(t \rightarrow +\infty),$ 

where

$$te^{-2t}\sum_{k=i-1}^{i+2}I_k(2t)\sim \frac{2\sqrt{t}}{\sqrt{\pi}} \qquad (t\to+\infty)$$

In the case where i=0 we have an inequality

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

(22') 
$$0 < L(t) - \left[ te^{-2t} \left\{ I_0(2t) + 2I_1(2t) + I_2(2t) \right\} - \frac{1}{2} \right]$$
  
 $< \frac{3}{2} e^{-2t} I_0(2t) \rightarrow 0 \qquad (t \rightarrow +\infty).$ 

# 6. FURTHER RESULTS

Departing from (2) we can calculate the probability that at least m units are in the system at time t

$$\sum_{n=m}^{\infty} P_{n}(t) = e^{-(1+\rho)t} \bigg[ \sum_{n=m}^{\infty} (\sqrt{\rho})^{n-i} I_{n-i} (2\sqrt{\rho} t) + \sum_{n=m}^{\infty} (\sqrt{\rho})^{n-i-1} I_{n+i+1} (2\sqrt{\rho} t) + (1-\rho) \sum_{n=m}^{\infty} \rho^{n} \sum_{k=n+i+2}^{\infty} (\sqrt{\rho})^{-k} I_{k} (2\sqrt{\rho} t) \bigg].$$

By interchanging the summation the last term in the brace on the right side becomes

$$(1-\rho)\sum_{k=m+i+2}^{\infty}\sum_{n=m}^{k-i-2}\rho^{n}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho} t)$$

$$=\sum_{k=m+i+2}^{\infty}\rho^{m}(1-\rho^{k-i-m-1})(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho} t)$$

$$=\rho^{m}\sum_{k=m+i+2}^{\infty}(\sqrt{\rho})^{-k}I_{k}(2\sqrt{\rho} t) - \sum_{k=m+i+2}^{\infty}(\sqrt{\rho})^{k-2i-2}I_{k}(2\sqrt{\rho} t)$$

$$=\sum_{k=m+i+2}^{\infty}(\sqrt{\rho})^{2m-k}I_{k}(2\sqrt{\rho} t) - \sum_{k=m+1}^{\infty}(\sqrt{\rho})^{k-i-1}I_{k+i+1}(2\sqrt{\rho} t).$$

Then we have an equality

(23) 
$$\sum_{n=m}^{\infty} P_n(t) = e^{-(1+\rho)t} \sum_{k=m-i}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t) + \sum_{k=m+i+1}^{\infty} (\sqrt{\rho})^{2m-k} I_k(2\sqrt{\rho} t).$$

From the property (8) of modified Bessel function we have

$$\sum_{k=m+i+1}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t) = e^{(1+\rho)t} - \sum_{k=-m-i}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t).$$

Substituting this into (23), we can reach the result

(24) 
$$\sum_{n=m}^{\infty} P_n(t) = \rho^m + e^{-(1+\rho)t} \left\{ \sum_{k=m-i}^{\infty} (\sqrt{\rho})^k I_k(2\sqrt{\rho} t) - \sum_{k=m-i}^{\infty} (\sqrt{\rho})^k I_{k-2m}(2\sqrt{\rho} t) \right\},$$

where the first term of the right side equals to the probability  $p_{\geq m}$  that at least *m* units are in the system in equilibrium. From (24) we can easily obtain the following inequalities;

(25) 
$$\left|\sum_{n=m}^{\infty} P_n(t) - p_{\geq m}\right| < \frac{(\sqrt{\rho})^{m-i}}{1 - \sqrt{\rho}} e^{-(1+\rho)t} I_0(2\sqrt{\rho} t) \rightarrow 0 \quad (t \rightarrow +\infty)$$

and

.

$$(25') \quad \left| \sum_{n=0}^{m-1} P_n(t) - p_{< m} \right| < \frac{(\sqrt{\rho})^{m-i}}{1 - \sqrt{\rho}} e^{-(1+\rho)t} I_0(2\sqrt{\rho} t) \to 0 \quad (t \to +\infty).$$

Acknowledgement I am deeply indepted to Dr. H. Morimura (Tokyo Institute of Technology) for giving me every facility to publish this paper.

#### REFERENCES

- [1] T. L. Saaty, Elements of Queuing Theory, 1961.
- [2] W. Ledermann and G. E. Reuter, Spectral Theory for the Differential

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.

Equations of Simple Birth and Death Processes, Phil. Trans. Roy. Soc. London, Ser. A, vol. 246, pp. 321-369, 1954.

- [3] N. T. J. Baily, A Continuous Time Treatment of a Simple Queue using Generating Functions, J. Roy. Stat. Soc, Ser. B, vol. 16, pp. 288-291, 1954.
- [4] A.B. Clark, A Waiting Time Process of Markov Type, Ann. Math. Stat. vol. 27, pp. 452-459, 1956.
- [5] D.G. Champernowne, An Elementary Method of Solution of the Queuing Problem with a Single Server and Constant Parameters, J. Roy. Stat. Soc, Ser. B, vol. 18, pp. 125-128, 1956.
- [6] B. W. Conolly, A Difference Equation Technique applied to the Simple Queue, J. Roy. Stat. Soc, Ser. B, vol. 20, pp. 165–167, 1958.
- [7] N. T. J. Baily, Some Further Results in the Non-equilibrium Theory of a Single Queue, J. Roy. Stat. Soc, Ser. B, vol. 19, pp. 326-333, 1957.
- [8] P. M. Morse, Stochastic Properties of Waiting Lines, Opns. Res, vol. 4, pp. 1-18, 1955.

Copyright © by ORSJ. Unauthorized reproduction of this article is prohibited.